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T 1
1. 1564
2. 1575
3. 1579
4. 1582
ey

(A) 1-d, 2-c, 3-a, 4-b
(C) 1-c, 2-d, 3-b, 4-a

The world’s dricst desert is :

(A) Thar (B) Sahara
ey &1 T ST e wee §
(A) ¥R (B) @B,

£ o o ow

B)
(D)

©)

©)

il | I
TEHTAT Rreen
TESR T IZHOIT
EIERHC L G|
ST T & TT9T

1-a, 2-d, 3-b, 4-c #
1-b, 2-a, 3-c, 4-d =

Gobi (D) Atacama

G (D) U=

\4atch the names of the four Buddhist Councils given in Column I with the places they
were held as given in Column 11 qnd provide the correct answer from the options given

below :
Column I Column 1T
1. First Council a.  Vaishali .
2. Sccond Council b.  Rajgir
3. Third Council ¢.  Kundalban
4. Fourth Council d.  Pataliputra
Options :
(A) 1-d, 2-b, 3-c, 4-a B) 1-a, 2-c, 3-d, 4-b
(C) 1-b.2-a, 3-d, 4-c . (D) 1-¢,2-d, 3-b, 4-a
AT 1 H 39 9w %WWW@IN%@WWWF&%W@?
3 o R 7§ o R
T 1 T
1. uEd wefwd a. g9l
2. al eefad b. TR
3. el eefaa c. HEdET
4, = Fehed d.  weRg
e '
(A) 1-d, 2-b, 3-c, 4-a (B) 1-a,2-c, 3-d, 4-b
(C) 1-b,2-a, 3-d, 4-c I-c, 2-d, 3-b, 4-a

(D)
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Pigment containing and light reflecting cells are :

(A) ILeucoplasts (3) Chloroplasts  (C) Chromatophore (D) Chromatoplasts

U ST TS qUates SN 8 :
(A) wEwTE  (3) ®WOwE (C) BEEER \/<D> FrETRE -

Bluc Revolution refers to the great increase in which economic activity ?

(A) Tertilizers g (B) Dairy
(C) Commercial farming (D) Aquaculture »
<l ife few onfde fofafy % ga gl safdr 8 7
(A) Td& (B)
(C) =Eaiys el (D) Fo= g
What does the carth do on its axis ?
(A) Rotates (3) Revolves (C) Spins ~ (D) Circumnavigates
geET AT A R F] FAl & 7 | |
(A) T - \/ (3) 9REAw T (C) TEU ‘ (D) ARE=
/ Which Indus Valley Civilization site has shown archaeological evidence of rice
cultivation ? / ’
(A) Chanhudaro™ (3) Kalibangan | (C) Dholavira (D) Rangpur
forr ey OTel e o A @ BT $ QO g 59 g 7
(A) TEE (3) @EET (C) R (D) TR
A gcostationary satellite is positioned at a distance of how many kilometres above mean
sen level ? '
(A) 335,880 (3) 37,800° (C) 35,786 \/ (D) 32,000
TE T 4§ o Feweiey SR U Jeaddl 9uE RYd © 7
(A) 35,880 (B) 37,800 (C) 35,786 (D) 32,000
Which state of India is the largest producer of chillies and turmeric ? >
‘ ’ Fobtt
(A) Uttar Pradesh - (B) Andhra Pradesh ¢ C/ A
. - Y
(C) West Bengal \/ (D) Maharashtra ~
RA &7 &-81 U5 i ofR Bl &1 el SaTET IeHTe aRell 8 7
(A) TR Y (B) 1Y uger
(C) dfer &t (D) ERTE
What did a person get when he was given a jagir by the Mughal emperor ?
(A) Salary (B) Grant of landed property
(C) A high office (D) A revenue assignment e
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T STERTE T T A B A 347 o7 37 99 797 forerer o7 2

(A) T (B) SN WRTE T SRT

(C) wFo=mas D) TG F

The Matatila Hydd Project is on which river 9 '

(A) Tapi in Gujarat (B) Mahanadi in Odisha -

(C) Betwa in Uttar Pradesh (D) Koyna in Maharashira
AT aTRew e R e S )

(A) T - TorT & (B) WEWET - anfeem®

(C) 3T - T w3y & , (D) T - FEmTE &

Match the authors given in Column I with the chronicles written by them given i
Column IT and provide the correct answer from the options given below :

Column I Column IT
1. Abul Fazl a.  Tarikh-i Firoz Shahi
2. Abdul Qadir Badauni b.  Padshahnama
3. Ziauddin Barani ¢.  Akbarnama
4. Abdul Hamid Lahori d.  Muntakhab-ut-Tawarikh
Options :
(A) 1-d, 2-a, 3-c, 4-b . (B) 1-a, 2-c, 3-b, 4-d
(©) 1-¢.2:d, 30,45, / (D) 1-b.2-a, 3-b, dec

o 1 23 7 et v e 015 s 7 v e i e 4 e et
ST o :
T 1 | T 1T

. 3T vl a.  ARE-T R amér
2. I FIER I b.  uEmETH

3. Frrede awh c.  SFEETAH

4. I BIE A d.  goEE-sg-mai
ey . 7

(A) 1-d, 2-a, 3-c, 4-b (B) 1-a,2-c, 3-b, 4-d
(C) 1-¢,2-d,3-a,4-b « \/ (D) 1-b, 2-a, 3-b, 4-¢

Disguised uncmployment is said to occur when
(A)  Demand for labour declines compared to its supply for demographic reasons. \/ﬁ:
(B) Demand for labour reduces because of a seasonal swing.

‘(C) More labour is engaged in an occupation than optimally required.—\v/

(D) Jobs get reduced because of a negative business cycle.
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Fegd SN T Bl & 97

(A) SFEifErmE RO T SF 5H & A & AT § sl g B ge §
(B) HrEHT STRTAT F A58 F W BT AT gl 8

(C) T e U% & 299y § o 2 & ST e ouiad &Y § B 9Tiey
(D) THRIE AR T 3 g9 & AE | HAT 81 Jl 2

Correctly match the dates given in Column I with the significance attached to each given
in Column II and provide the correct answer from the options given below :

Column I Column 11
1. 1sth .Tanuary ‘a.  World Health Day
2. 30th January b.  Army Day
3. 15th March c.  Martyrs Day
4. 7th April d.  Consumer Rights Day
Obtions :
(A) 1-b, 2-c, 3-d, 4-a * \/ -(B) I-c,2-a,3-b, 4-d
(C)y 1-d, 2-b, 3-d, 4-¢c (D) 1-b, 2-d, 3-a, 4-c

@Iﬁﬁﬁmﬁ@mﬁﬂﬁﬁnﬁ%ﬁmmﬁmaﬁﬁﬁ%ﬁﬁﬁ?ﬁﬁﬁﬁﬂﬁ T
g - ‘
Tt 1 T 11

I 15§l a. favg @y g

2. 309 b, ¥ Rgw

3. 139E c. Wk REw

4. 7 HT d.  SUHRH AR Rag

e

(A) 1-b, 2-c,3-d, 4-a (B) 1-c, 2-a, 3-b, 4-d

(C) 1-d, 2-b, 3-d, 4-c (D) 1-b, 2-d, 3-a, 4-c

India’s coastlinc measurcs : \/ | wﬂi
(A) 7416.6 kms (B) 7515.6kms * (C) 7516.6 kms (D) 7316.6 kimms
WA TE 0 & AT &

(A) 7416.6 kms (B) 7515.6 kms (C) 7516.6 kms (D) 7316.6 kms

The Bharat Nirman Programme launched in 2005 was intended to :

(A) To develop heavy industries and communication networks

(B3) To develop handicraft production and small-scale industries ’
(C) To develop infrastructure and connectivity in rural areas s- »\/

(D) To develop core banking and financial institutions across sectorsl A\

P.T.O.
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2005 WWW%@W"?W@WW:

(A) wﬁmmaﬁvzm%arwmw%w

(B) Wwwﬁwgeﬁvﬁﬁ*%am

(D) S¢ &8 & % fr o s EiRisikagcee - vnp—

What kind of micro-organisms are there in nj rogen fixing bacterja 9

(A) Rhizobium (B) Procaryotic ‘/(C) Azotobacter (D) Cyanobacteria
(A) Tzeifege o> (B) Fefafes . (C) REEgex - (D) wETEE R

Black cotton soils are also knewn ag -

(A) Regur (B) Khadar
(C) Bhabar (D) Bhangar

Wﬁwwﬁwwﬁaﬁww%:
(A) Ty, B) =

(C) 9w (D) wmw

The three major Kharif Crops grown in Haryana are

(A) Paddy, Sugarcanc, Cotton (B) Chillies, Wheat, Jowar

(C) Bajra. W heat. Pulses (D) Millet, Sunfiower, Mustard
BRATIT 3 f27 o vy vy T%T 0% maey &

(A) 919, 7, g (B) e, ¥ =

(C) e, T e (D) 97, o, s

In which Rock Edict is Asoka named in person and not by his usual title Dcvanampriya ?
(A) Maski \/ (B) Taxila (C) Mahasthan (D) Bahapur
%WUWWW?@‘TWW@W%WTWW&WW@H ?

(A) T (B) Fafmr - (C) Hemym (D)
Under which Viccroy was the Indian Universities Commission set upin 1902 9
(A) Lord Curzon . (B) Lord Minto

(C) Lord Hardinge (D) Lord Chelmsford
1902%%%%@%3@#3@%%@%%?%@??

(A) a7 gl - (B) @EAE

(C) T gfdy (D) ¢ gmymrE

How many districts. sub-divisions and tehsils are there i Harvana 9

B) 22,73, 93 respectively 1/
(D) 27,75, 95 respectively

(A) 24.75. 95 respectively
(C) 25, 76. 95 respectively



~]

i # foa forer, su-me #fR el € 7 - ,
(A) FHT: 24,75, 95 | (B) AT 22, 73, 93

(C) DA 23,76, 93 (D) ®H: 27,75, 95
27. What percentage of Haryana is officially recognized as being under forest cover ?
4 (A) 5.5 percent (B) 3.59 percent c\/('C) 3 percent (D) 4.5 percent
Vv BTV & febeil YTrema. 7 7 9 Seered % sfavfa arftiRe & & Wiy are & 7
(A) ssafged (B) 3.59 gfdu (C) 3ufaea (D) 4.5l

28. The Pradhan Mantri Jan Dhan Yojana launched in 2014 was designed to :
(A) Promote financial inclusion in the country * \/
(B) To provide financial assistance to marginalized groups
\// (C) o provide housing loans and low rates to intérest to the poorer people
(D) To sustain women sclf-help groups in rural areas
2014 % ¥ g2 gor o g Ao fesme o of
(A) T9r 9 [l |99 &) gerr 3w
(B) 3Hfera vt &1 Feefra s weie &9 & fog
(C) 1T T &l BTeHHT @19 R &1 =S &7 & 3 3% f
(D) 3T &=t § wfea @ g GE B a9y e % e

- Match the names of the kings given in Column T with their appropriate dynasties given in
~ Column I and provide the correct answer from the options given below :

Column [ Column I1
l. Rajendra a. Pallava
Zz. Mahendravarman b.  Hoysala
3. Amogavarsha . c.  Rashtrakuta
4. Vishnuvardhana d.  Chola
Options : J
y (A) 1-d,2-a.3-c, 4-b (B) 1I-a,2-d, 3-c, 4-b
7’\ (C) 1-d, 2-a, 3-d, 4-c (D) 1-c, 2-b, 3-d, 4-a

T E A T gemer % A e e 10 F R 8 euges qoasl @ e S o 9 R R
R e e gy

il T [
1. s a.  dwq
3. oHEeY c. UEFE
4, Rugds d. ¥
[EETCE '
(A) 1-d, 2-a, 3-c, 4-b/ (B) 'l-a, 2-d. 3-¢, 4-b
(C) 1-d. 2-a, 3-d, 4-c (D) 1-c,2-b, 3-d, 4-a «

603/A | P.T.O.
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32.

33.

Ve

A5

/
@ Yucatan §1xa1t joins which two countries ?

(A) Mexico and Cuba

(C) Papua New Guinea and Australia
JHe BT o 31 39 @ g7

(A) Afewsr iR Fgar

(C) wger 7 R ofi sireferr

The Supreme Court at Fort William in Cal
(A) Regulating Act of 1773
(C) Charter Act of 1793

(B) Ttaly and Albania

(D) Indonesia and Malaysia

(B) seat ok e
(D) F=MIREET TR wafdra

cutta was established by which Act ?

(B) India Act of 1784
(D) Charter Act of 1813

ﬁwaﬁrﬁw%wmwwﬁﬁmwmmaﬂwgﬁ?

(A) R afafeg 1773
(C) =R arfaf 1793

(B) wra atfafraw 1784
(D) =T erfafaT 1813

Match the sobriquets given in Column I with their states given in Column IT and provide

Celumn [1
a.  Manipur
b.  Nagaland

c. Mizoram
Arunachal Pradesh

1-c. 2-a, 3-d, 4-b +
1-d, 2-b, 3-c, 4-a

B)
)

the correct answer from the options given below
Column [

1. The Falcon Capital

2. The Orchid State

3. The Gateway to the East

4. The Land of the Hill Pcop]

Options :

(A) 1-b, 2-d, 3-a, 4-c

(C) 1-a, 2-c, 3-b, 4-d

AT 1 3T 1 guamt &1 gl 1 3 o ot § R @i o S Ry Rewt § a8t o

g

T -
1. 2 B Hiued
T ofifde =
feggdrde
31 g o 2 ey diger
ey
(A) 1-b, 2-d, 3-a, 4-c
(C) 1-a, 2-c. 3-b, 4-d

RENERVS B\

zﬁrn

a. AR

b,  AFITE

c. [frwmw

d.  SEUTET FR

(B) 1-c.2-a, 3-d.4-b

(D) 1-d.2-b, 3-c, 4-a

The occanic current produced by the irregularly periodic variation in winds and sea

surface temperatures over the tropical eastern Pacific Ocean is known as :

(A) Humboldt current —
(C) Canary current

603/A

(B) ElNino ¢
(D) Aguthas current
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SO REH qdf R ARTETR % SR GYF &1 908 % qee § afafi erafie R % sror e

WETARY 9T &l &l 91 & -
(A) BERE Hie | O B) AR
O FEe | (D) TR FE

f34 Match the Latin terms given in Column I with corresponding meanings used in legal
proceedings given in Column I and provide the correct answer from the options given

below :
Column [ : Column IT
1. Actus Reus a. We command
2. Certiorari b.  Guilty act
3. Habeas Corpus c.  To beapprised
4. . Mandamus d.  You may have the body
Options
A (A) 1-b, 2-¢, 3-d, 4-a/ " (B) 1-a,2-d,3-b,4-c”
(C) 1-d, 2-a, 3-c, 4-b (D) 1-c, 2-b, 3-a, 4-d

et 13 Ry T AR o=l @ fre gE 10 % S s § ewdnr R o am e o @
g T S 3 fadt § & oadt st |

T | g 11

. uged Rem - a. drEEmE

2. wEERh b. el Uge

3. cfeew adw c. Tl UwER

4, HeAg d. guggdrar

forae |

(A) 1-b, 2-c, 3-d, 4-a (B) 1-a, 2-d, 3-b, 4-c=

/(C) 1-d.2-a,3-¢c,4-b (D) 1-c,2-b,3-a,4-d
6‘5/ Which Plan was also known as the ‘Rao and Manmohan’ Plan ?

(A) The Flghth Plan \/ (B) The N_;;Ql Plan
y /\Q (C) The Tenth Plan » (D) The Twelfth Plan

R ST 1 T S AE AT S e o # 7

(A) T} qren (B) #dT Ao

(C) Z[dl T ' (D) FREdT GIoT

603/A | P.T.O.
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Match the central government programmes in Column I with the years of their introductior
given in Column I and provide the correct answer from the options given below :

Column I Column IT
. National Rural Employment Guarantee Act a. 2000
2. Pradhan Mantri Jan Dhan Yojana ey 2005
3. Employment Assurance Scheme C. 2014
4. Pradhan Mantri Gramodaya Yojana d 1993
‘T()p‘tions :
(A) 1-d, 2-b, 3-a, 4-d B) 1-b. 2-c, 3-d, 4-a » /
(C) 1-a,2-d, 3-b, 4-c (D)1b2<:334d

T RT 0 S §R % weiw @ R e 0 A B adt ¥ A o 9 Ry
fedl § § a2t o g

qETL et 1

. T ai IR TR st a. 2000

2. UYIHET S 9 e b. 2005

3. ISR STETR Ay c. 2014

4. QUIHT ATHIEE FreET d. 1993

e

(A) 1-d, 2-b, 3-a, 4-d (B) 1-b, 2-c, 3-d, 4-a
(C) 1-a,2-d, 3-b, 4-c . (D) 1-b, 2-¢, 3-a, 4-d
Who was appointed Attorney General of India on 30th June 2017 2
(A) P.J. Thomas (B) K. K. Venugopal «
(C) Rohinton Nariman (D) M. N. Krishnamani
30 9, 2017@%WWMWWWWW ?

(A) dlo So orqg (B) %o o ITFI \/
(C) Ufees = (D) THo o HWRAT

Match the names of the branches of the biological studies given in C@Emnn i th their §
arcas of specialization in Column I and select the correct answer using the options given f

below the columns -

Column | Column I¥
1. Acarology a.  Study of Fish
2. Cctology | ~.b.  Study of Agriculture
3. Gceoponics | ¢.  Study of Mites
4. Ichthyology d. - Study of Whales and Dolphins
Options : )
(A) 1-a, 2-b, 3-c, 4-d £ (B) 1-b, 2-¢c, 3-d, 4- -d e
(C) I-c, 2-d, 3-b, 4-a D) 1- d 2-a, 3-b, 4-¢ £



11
gt 1 # < et S aperr w7 ameel & e g 0 F Ry 1 o e % 8w ¥ it ek

T R e B 9 @ o R
g 1 kil
| I UEUEl a. WO BT ST
| 2. HRIT b, & P s
| 3. Rt c. T B AHAT
| 4. sfeEanh d. 20 IR e # oreE
e
(A) 1-a,2-b, 3-c, 4-d (B) 1-b, 2-c, 3-d, 4-a
(C) 1-c,2-d,3-b, 4-a (D) 1-d, 2-a, 3-b, 4-c

39. A high molecular weight compound formed by combining large numbers of small
molccules of low 1y¢ular weight is called :
(

"(A) Pblymer v B) Alkali (C) Acid (D) Direct Dyes
HF TS R & a1 WA ST o] & e § S I Svifdes 9K e A i e &, 9F Fa
(A) ETH (B) &R C O (C) o (D) ¥ &

40. A vcctor is a physical quantity which has :
(A) Mass and volume - (B) Density and tension 4
(C) Incrtia and stress (D) Magnitude and direction

y wfy us i iy s e 2

Vo (A) SEHH UG ST (B) u9d Ud g4 |

(C) e v W (D) TREmr v e \/

41.  Which of the following Indian city was declared as a World Heritage City by UNESCO in
July 2017 ?

(A) Bhopal (B) Lucknow (C) Ujjain | (D) Ahmedabad \/
£ YR 2017, % AR &R fo AR o @ o forr e enfae g o 2 ,
(A) T (B) @&@TS (C) T=I (D) STERER

42. Match the names of scientists in Column,I with their fundamental given in Column II
and scleet the correct answer using the options given below the columns :
Column I Column I
% 1. Louis Pasteur .+ splitting of the atom and discovery of proton
/ 2 discovery of X-Rays
3 enzyme lysozyme and benzylpenicillin

Alexander Fleming
Frnest Rutherford

4. William Konrad Roentgen vaccination and microbial fermentation
N [ 1 B

b

" Options : ' AdC CA
\ (A) 1-c, 2-d, 3-a5_4-b¥: \/ ' (B) 1-d, 2-a, 3-b, 4-c \ /
(C) 1-a,2-c,3-d,4-b : (D) 1-b, 2-a, 3-c, 4fdjﬁ

603/A ; P.T.O.
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TN A i g N T i e e st :—;m\w_’ﬂ-:'n.:m;:im:‘:n%b‘,cwdﬁtu:.;.u,:i".'.m..ﬂa:‘“w:,-; S Gt e i s e o : St e £

WIﬁ%@%ﬁﬁ%mwmwllﬁm%@w%ﬁmeﬁ?ﬁ%ﬁ%ﬁm
7 TR g |
T 1 | = 1T

I 39 g A TS # R s grery 2 g
2. TR wifh b TFg-few # gy

3. o wE C. USTEH TIEHINET U afmeiifufin
4. Fferr s veem d. 2R S MR R
e ‘

(A) 1-c,2-d, 3-a, 4-b (B) 1-d, 2-a, 3-b, 4-¢
(C) I-a,2-c.3-d, 4-b (D) 1-b, 2-a, 3-c, 4-d

Why is radiocarbon dating 1ot good for material more than 30,000 years old ?
(A) Because all animals emitted radiocarbon before that time
(B) Because radiocarbon was not present anywhere before that time
(C) Becausc the amount of C14 becomes almost immcasurably small in 30,000 years
(I2) Because carbon extraction was not known before 30,000 years
aﬁﬁ%ﬁﬂaoooaﬁ%mmw%{;ﬁmm TETE 7
(A) aﬁﬁsww%rﬁwﬁaﬁaﬁtﬁmmﬁhm%
(B) afﬁ%ww%fﬁ?%ﬁwwaﬁﬁm
(€) 3o,oooa§fﬁc14aﬁwwwéﬁms‘m§éﬁ s
(D) 3o,ooowﬁm%ﬁw%a&fﬁwa@°fw v
Biographical information on Gury Nanak is available from which major source 9
(A)  Adi Granth (B) Janam Sakhis (C) Gvan Ratnavali (D) Dasam Granth
gfsw%a‘mwzﬁwwﬁ@mg@:wffmw% ?
(A) s T o v/ (B) o ey ©) FHwEES (D) - 7w g
Maitch the distinctive aspects given in Column T with the correct districts of Haryan
given in Column IT and select the correct answer using the options given below th
columns :
Column 1 Column 11

I. 'This district has the tomb of Sheikh Chilli a. Rohtak

2. Thiscity is associated with the temple called Panchvati ( 7. Jind

3. This district is associated with the temple of Jayanti Devi 2 C. Kurukshetra
4. This district is associated with the ancient town of Khokrakot* (. Palwal
Options : , \

(A) 1-¢,2-d,3-b, 4-a ., )\/ (B) 1-a,2-b, 3-c, 4-d

(C) 1-b, 2-¢, 3-b, 4-q (D) 1-d, 2-a, 3-c, 4-b
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zgzﬁIﬁ%ﬁ@ﬁf@@%@aﬁmﬁqﬁmﬁaﬂlﬁﬁﬁ@mawﬁﬁ?ﬁ@rwaﬂwﬁ%ﬁﬁ
eIl | T IT

NEGE

. 29 T o 9 Rereft a7 mperr & a. |

2. TR IR YEEE WS Uiy F wrie & b. g

3. R T St 3 A A § e c.  FHHA

4. 78 N [ 9 deEie @ gafyg d.  gwaw

ey ;-

(A) 1-c,2-d, 3-b, 4-a (B) 1-a, 2-b, 3-c, 4-d

(C) 1-b,2-c, 3-b, d-d (D) 1-d, 2-a, 3-c, 4-b

Gandhiji’s famous Dandi March in March 1930 heralded the start of which movement 9
(A) Satyagraha ’ ' - (B)  Quit India Movement ‘
(C)  Dircet Action Day (D) Civil Disobedience Movement . '/
i) 193oﬁﬁeﬁvﬁa€rma@wﬂa¥aw@w%%ﬁﬁmwé?

(A) TEwE - (B) 9RT BRT e

(C) =HEe e 2 (D) dfeT srgem areres

Match the Divisions in Haryana given in Column I with two of the selected districts in
cach onc’s jurisdiction given in Column II and select the correct answer using the options
given below the columns -

Column I Column I1
I.  Karnal ~a.  Jind, Sirsa
2. Hisar ,,////%fﬁ b.  Panipat, Kaithal
3. Ambala C. '_ﬁlajjar, Bhiwani ,
4. Rohtak d.  Kurukshetra, Yamuna Nagar
Options : :
(A) 1-d, 2-a, 3-c, 4-b , (B) 1-a,2-c, 3-b, 4-d
(C) l-c,2-d, 3-a, 4-b (D) 1-b, 2-a, 3-d, 4-¢c ~

q\‘:ﬁIﬁfiﬁﬁzﬁmﬂ%%ﬁwmwwnﬁﬁqmm%Wfﬁwﬁaaﬁﬁﬁw%smw
Wﬁ'ﬁ%%ﬁﬁw"ﬁ@mﬁwgﬁm |
T | T 11

. & a. g, fwy

2. faR b.  UvE, Suw

3. S c. #oR fagrEr

4. TETE d. P58, IR
ﬁw:

(A) 1-d, 2-a, 3-c, 4-b (B) 1-a,2-c, 3-b, 4-d
(C) 1-c,2-d, 3-a, 4-b - (D) 1-b,2-a, 3-d, 4-¢

P. T.O.

T s T T R O S e
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Where was Razia Sultan defeated and assassinated ? ‘
(A) Palwal (B) Panipat (C) Jhajjar (D) Kaithal \/
(A) g (B) g (C) T _ (D) T e

Match the names of the Sceretarics General of the UN given in Column I with the
countrics of their origin given in Column II and provide the correct answer from the
options given below :

Column 1 Column f1

1. Ban Ki-Moon a.  Portugal

2. Kofi Annan - b, Norway

3. Trygve Lic / ¢.  South Korea
4. Antonio Guterres d Ghana
Options : Yy '
(A) T-c, 2-d.3-b, 4-a . \/ (B) I-a, 2-b, 3-d. 4-¢
() 1—d,7z,304b (D) 1-b, 2-c. 3-d, 4-a

zg;zﬁEﬁﬁ*mww%mﬁﬁ%wmﬁmﬁzﬁHﬁmwﬁwéﬁmaﬁvﬁ%ﬁ%
faedl # & w7 oo g

ici g 1]

I SR a.  gaTE

2. B SEN ' b, Hd

3. ST Ef c. ey FEifar

4. ﬂaﬁﬁw d. gmr

F

(A) 1-c.2-d. 3-b, 4-a  (B) 1-a,2-b, 3-d, 4-¢
(C)  1-d. 2-a, 3-c. 4-b (D) 1-b, 2-¢, 3-d, 4-a

The central nodal agency for implementing price support operations for commercial crops
s

(A) FCI (B) NABARD+ (C) TRIFE (D) NAFED » "
SR BT % [0 e Tl w7 31 A a0 F R i e oo
() TFe o ado . (B) TWE(C) zEEe (D) e

When was the National Lommlsqvm for Scheduled Castes and Tribes bifurcated into the
"‘National Commission for Scheduled Castes’ and ‘National Commission for Scheduled
Tribes™ ?

(A)  28th September 2004 (B) 28th September 2006 ¢ /
(C) 28th September 2005 (D) 28th September 2003
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gl Sl o St o TS SN & TS S AggET i R UL S
g e’ J e ger ? |
(A) 28 frwr, 2004 (B) 28 R, 2006
(C) 28 fawr, 20053 (D) 28 fyamr, 2003
5/2:- In tragedies caused by drinking spurious liquor, the-active agent causing such tragedies is:
= {A) Mecthyl alcohol~(B) Ethyl alcohol  (C) Amylalcohol (D) Benzyl alcohol
el S 01N § &€ Arael #, S 9ihd T 59 ATHEl F HRU Y, 98 ¢ -
[ (n) o e - (3) e,/ (C) i gEe (D) 3 e
53. JWhat is the total length of metalled roads in Haryana ? .
(A) 26,062 kms (B) 26,131 kms (C) 26,051 kms (D) 26,129 kms -
4 BRI @ iew (T e & G awils g g o |
7\ (A) 2@2@@@% (B) 26,131 fedt ’\/ (C) 26,051 f (D) 26,129 f&t

54. Which of the following is mof in the concurrent list of the Indian Constitution ?

‘A) Criminal Procedure - (B) Electricity
(C) Archacological sites -~ (D) Public Order
e A A ST e g i 7 b
(A) SIS giar - B) fFEEn
(C) AR @w (D) THwfE FE
55. Thec Poona Sarvajanik Sabha was established by M. G. Ranade and G.V. Joshi on :
(A) 2nd April 1870 / (B) 2nd April 1869
(C) 2nd April 1871 (D) 2nd April 1872
\/\ o o TR &R ofte dro Ssft gRT AT AEwE T BT WA &
(A) 2 o, 1870 (B) 2 a9, 1869
(C) 2 et 1871 (D) 2 aHa, 1872 .

56. Which of the following aspects of the revolt of 1857 is not correct ?

(A) Tt had a diverse social participation
(B) It was enthusiastically supported by the educated elite everywhere ~
(C) It was great symbol of communal unity |
(D) Tt was limited only to northern India

v 1857 % fosite % i & e § #r-97 ue 98l 787 8 7
(A) 3w Rifry grafe wrierd &
(3) 7' & avre farfera et o &R ScaTeyE qHidd a1 - \/
(C) & HiFaTis Ug & 7e il 41
(D) T8 Haw ol ARG a A o

603/A P.T.O.
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57./
\/
58.

59.

603/A

-Which of the following was the name giV'ell to village assemblies in the Chola kingdom ?
(A) Nadu (B) Nattar  (C) Sabha O Ur, A
Freferftg & @ foy e qmren ¥ ity & gy & = ey wy o7 7

(A) g B) T - O (D) &

The WTO was founded in Geneva in which year ?

/~

(A) IstJanuary 1994 (B) IstJanuary 1995™
~(C) IstJanuary 1996 (D) st January 1993

SaT 7 B A WTO & T g% ?

(A) 1S9, 1994 (B) 1T, 1995

(C) 1 s7ad, 1996 (D) 157ad, 1993

Match the Articles of the Indian Constitution given in Column I with corresponding
provisions given in Column I and provide the cerrect answer from the options given
below :

Column 1 Column I1
1. Article 153 a.  Appointment of Governor by the President
2. Article 154 b.  Mandates office of Governor
3. Article 155 c.  Specifies Term of the Governor
4. Article 156 d.  Specifies Executive Authority of

Governor
Options : |
(A) 1-a.2-c,3-b, 4-d » (B) 1-b, 2-d, 3-a, 4-c /
(C) 1-c,2-a, 3-d, 4-b (D) 1-d, 2-b, 3-c, 4-a
el 15 R T el ST 3 o @ B e 17 i R T o ame & S s
&7 faeedi § § et s g

T 1 T 1T
. YT 153 R AR CERC A B e
2. OTRE 154 b, T T AT
3. ST®T 155 ST & PEH M FaT &
4. ITHT 156 d. TSI F IS FUER B T wmar
e
(A) 1-a,2-c, 3-b, 4-d (B) 1-b, 2-d, 3-a, 4-c
(C) 1-c; 2-a, 3-d, 4-b (D) 1-d, 2-b, 3-c, 4-a
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Haryana Shahari Vikas Pradhikaran (HSVP) has :

(A) 4 Zonal Administrators, 6 Estate Officers and 11 Assistant Officers
(B) 6 Zonal Administrators, 8 Estate Officers and 13 Assistant Officers
(C) 5 Zonal Administrators, 7 Estate Officers and 13 Assistant Officers
D)L 3 Zonal Officers, 5 Estate Officers and 7 Assistant Officers

=R el fwr mitRer (HSVP) # & /
(A) 4 SV 99T, 6 qafy il ofk 11 9ers STy _

(B) 6 SN G9MHa, & qHtT Sy ofX 13 geres afder
(C) 5 S FaTes, 7 I et 9 13 Ferw e
(D) 3.3 Tl 5wk sifter ofR 7 weras arferd
Match the names of scientific instruments in Column I with their designated fields of
applications in Column I and select the correct answer using the options given below the

~—~

columns :

Column 1 k ‘ Column 11

1. Galvanometer »——__ Measure internal pressure of the eye

—

. _
Hygrometer - —_,b.  Measure clectric currents .
Manometer \/‘c. - Measure humidity levels

[\

(U]

4. ’Tonometer d.  Pressure of gases
Options : P
(A) 1-d,2-a,3-c.4-b | (B) 1-b,2-c,3-d, 4-a0

(©) 1.2, 3-a,dc 17 D) 1-a,2-c, 3-b, 4-d
T 1 % 3 7 e ol e g 11 R T 9o 3 e 2 3 A o
b Frodt 3 & ST |

T g 10

T i 0. it % SR T E A 3
2. EREMRR b.  fEg ur & A9 §

3. FeTeR c.  ITEHAT WX A9 §

4. SRR d. 9% I AT 2

ferereg -

(A) 1-d. 2-a, 3-c. 4-b (B) 1-b, 2-c, 3-d, 4-a

(C) 1-c¢, 2-d, 3-a, 4-¢ (D) 1-a,2-c, 3-b, 4-d

P.T.O.
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Who is the author credited with compdsing the classical Tamil epic 'Silappatikaram' ?
(A) Agastya (B) Ilango Adigal

(C) Chithalai Chathanar (D) Tholkapiyyar

o e @1 e 9t e TR H @ @ A A

A T (B) s aifera

(C) HIae R, (D) FTHIEIY

~_The amount of heat required for a substance to change from one state to another withou

change in temperature is called :

(A) Convection (B) Specific Heat «

(C) Radiation . (D) Latent Heat %/

TR AT T O ST § g T 3 R e 3 aeare 3 o A T Sfasas e 7 e 3
(A) waea B) fafere For

(C) Mafe | (D) I< =

How many million square kilometres is the surface area of the earth ?
(A) Approximately 550 million square kilometres

(B) Approximately 520 million square kilometres

(C) Approximately 510 million square kilometres

(D) Approximately 500 million square kilometers

- 3T 1 e B e e i a9 e 2 7

(A) T 550 faferaw o fmerdier -

(B) @1 520 fafoae o e

(C) @ 510 fafergs oof e

(D) T 500 faferas ot fosanfier

Match the branches of chemistry given in Column I with their main areas of specialized

study and research given in Column II and select the correct answer using the options
given below the columns :

Column I Column II
L. Biochemistry a.  physical principles of chemical processes
2. Material Chemistry 7 b.  detection and determination of chemicals
and compounds

3. Physical Chemistry , c.  chemical processes in living organisms

4 Analytical Chemistry d.  solid state chemistry and polymer chemistry
Options : "
(A) 1-d, 2-b, 3-a, 4-¢ (B) 1-b, 2-a, 3-c, 4-d ,
(C) 1-a,2-c, 3-d, 4-b (D) 1-c,2-d, 3-a,4-b - \/
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SCil Sl vre:ﬁwm:rQwa%m@mﬁmﬁamwnﬁrﬁ%@ﬁﬁqawaﬁxwm%g@
T HIT ofR R R et 3 8 g TR T :

T 1 T 11
I RIE T A a. TR ahEel % e Rrer
2. g mE b. T &R AH! B g T ok g Rk
FT
3. foefey B c. S ¥ et wheany
4. AT S d. S e HAET Tue el Faed
Ry v
(A) 1-d, 2-b, 3-a, 4-¢ . (B) 1-b, 2-a, 3-c, 4-d
(C) 1-a, 2-c, 3-d. 4-b | (D) 1-c, 2-d, 3-a, 4-b

Emetophobia is the fear of - ‘ _
(A) Vomllm0 \/ (B) Spiders /< (C) Heights KL (D) Tunnels

S ®B) w © s (D) gEa
77 g;\ Which of the following is not a kharlf crop ?
= (A) Mustard (B) TJowar (C) Paddy/ (D) Soyabean
79997 & T & I i o 7§ 7 |
/// (A) TTE e (B) =R © gm., (D) drmES
68. In which book did Dadabhaj Naoroji present his 'drain of wealth' theory ?

A

/f

69.

70.

v

603/A

(A)  Economic Problems of India (B) British Rule and its Coynsequences
(C) Poverty and Un-British Rule inIndia (D) India Today

o g  a7eT A7é S o 3 ooy ¢ S AT Io Ryl st & 7

(A) RN Yl i 2y B) @%srwm.‘@aﬁaﬁv

(C) wEdl uvs s9-fafrer vt & ey & (D) dEfearzge

The historic Grand Trunk Road does not pass through which of the following district in
IZaryana ? ’

(A) Rohtak » \/ (B) Kurukshetra (C) Ambala (D) Panipat
W%WMHW%W% T ST & 7
(A) TEds (B) Fodm (C) sfarar (D)

The science best-seller 4 Brief History of Time which made it into the Guinness Book of
Records was written by :

(A) Stephen Hawking -« (B) Isaac Asimov

(C) H. G.Wells (D) Stephen King
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(©) w0 o img D) T fam

71, Match the names of the fielg in Column I with theiy dominant chemica] broperti;
Column 17 gng select the corpe the options given below the columns

Column 1 Column 11
L. Water Gas Methane
- 2. Natura] Gas Butane and Propane
r 3. CNG Methane, Ethane

4. LPG Carbon Monoxi‘de, Hydrogen
Options : . T

\ (A) I-d, 2-¢, 3-a,4-p v \/ - (B) I-a, 2-d, 3-c, 4-b
(C) 1-b, 2-d, 3-b, 4-4 D) 1., 2-a, 3-b, 4-d_

zgsﬁIﬁ&&v%rs“zm‘f%wwﬁwgﬁnfmﬂ%%@mﬁagwﬁ@ﬁmsﬁwﬁﬁﬁﬁw
T wE

T 1 TET 11
L iy a e
2. T e b =T &R g
3. dweh - c.  H¥ Loy
4. eEsh | . B i, EEEIEE]
fermey
(A) I-d, 2-c, 3-a, 4-b (B) I-a, 2-d, 3-¢, 4-b
(C)  1-b, 2-d, 3-b, 4-9 (D) 1-, 2-a, 3-b, 4-d

72, Matéh the Suft saints ip Column T wity their significant activities'given in Column Iy and |
provide the correct answer from the options given below : "

Column Column IT1
I Nizam-ud-Dip Auliya a.  Tansen’s Spiritual and musical preceptor
2. Bayazid Ansari b.  Founded the Rishi ordey in Kashmir :
3. Shah Muhammad Ghouse c. Spiritual preceptor of Amir Khusrow
4, Nuruddin Nooranj d.  Founder of the Roshaniya Order
Options :
\/ (A) 1-d, 2-a, 3-c, 4.p - (B) 1-¢,2-d, 3.9, 4.1 v
() 1-a, 2., 3-b, 4:d (D) 1-b, 2-g, 3-c, 4-a :

603/A
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@IH%&WWW@WWHWMWW%W@T%%@W%
T @eT I gy

T T 11

1. Frsirredm eifear a. TR & Srefons o |l T8
2. amfg ST , b PR Y S & e
3. qTE B U™ foe. SR GEU & e TS

4, FHER [T d. aieEr oA g
(A) 1-d, 2-a, 3-c, 4-b O (B) 10,240,304 ¢

(C) 1-a,2-¢, 3-b, 4-d (D) 1- b 2-d, 3-c, 4-a

Which of the following designed the world’s first 30-KW class ATHENA drone
destroying laser ?

(A) Bocing (B) Thales

(C) Lockheed Martin (D) Raylheon -

frg &1 weelt 30-KW Fmd ATHENA S R aor B Romed 1 o 2
(A) T - By ¥W

(C) ﬁﬁﬁW%Taéyyx/A (D) eif

Match the gharanas of Hindustani classical music given in Column I with their famous
cxponent given in Column II and provide the correct answer from the options given
below :

Cojumn I Column II
1. Jaipur gharana a.  Ali Akbar Khan
2. Patiala gharana b.  Rajan and Sajan Mishra
3. DBanaras Gharana c.  Kishori Amonkar
4. Maihar Gharana d.  Vinayakrao Patwardhan
Options :
(A) 1-a,2-d, 3-¢c, 4-b (B) 1-c,2-a, 3-b,4-d
(C) 1-d, 2-c, 3-b, 4-a (D) 1-b, 2-a,3-d, 4-c

1 ¥ Ry e areg W%Wﬁﬂﬁf@??ﬁﬁﬂfﬁ%@m?ﬁagfwm@
I &R e 7 faeet § 7 wet o g

TH T 1

. SR O a. Il R @

2. gfeFar v b. TN R g s
3. IR WA c. [T arIeTeR

4, HEERAT d. fageE gead
ey - ' ‘

(A) 1-a,2-d, 3-c, 4-b ’ (B) 1-c,2-a, 3-b, 4-d
@)1dﬂ£ﬁbAﬂ.b// " (D) 1-b,2-a, 3-d, 4-c

P.T.O.
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/gg\ Which of the following High Courtsf,ﬁ!as the largest numper of Benches ?
e (A) Bombay High Court (B) Madhya Pradesh High Court

: (C)  Guwahat; High Court \/ (D) Kolkata High Court

7« T T e EEERCRECE Fag s
(A) T F=7 =m0 - B) AT Ry w7 ey
(C) T w21 ey (D) Frrr w7 e

76. Which of the following is nog 4 radioactive particle ? .

/ (A) Alpha (B) Delta~y" (C) Beta (D) Gamma
P58 3% o Yeaiifes e 77 & 7
(A) Tew (B) & (© (D) Ty

77. Kathakalj ig a popular dance form prevalent ip which state ? -
(A) Andhra Pradesh (B) Karnataka (C) Tamil Nadu (D) Kerala » e
\/ B! 5T 29T a7 ey T & 2 |
)/ (A) sthy gagr (B) s (C) g (D) Fwr
Who was the Jain scholar who yas consulted and honoure by Sultan Mubammad-bin
Tughlaq 2

(A) Jinaprabhg Suri \/ : (B) Mahendra Suri
, (C) I“Icmchandra Surf (D) Kundacharya
7§ g m'—m-w%%ﬁm%mﬁﬁéaﬂiwéﬁﬁ?

79. The Jallianwala Mmassacre happened oy -

(A) 13th April 1918 . (B) 13th April 1917
(C) 13th April 1919 , \/ (D) 13th April 1914
(A 13 359 1978 (B) 13 e« 1917
(C) 13389 1919 (D) 13 o 1916
@ In which college of Delh; University dig Sir Chotu Ram Study for his undergraduate
- degree ? ' v
\\/1 (A) Hindy College \/ (B) St. Stephen’s College
‘ (C) Ramjas College , (D) Daulat Ram College
W%@W%%Wﬁm%m#%ﬁ%%%w&m%m?
() R aem . (B) T g #ry
(C) g (D) afaa 7

603/A
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81. Maltch the names of the following schools of Indian philosophy in Column I with the
names of their preceptors given in Column 11 and provide the correct answer from the
options given below :

Options :
(A) 1-b, 2-a,

(©)

Ef 1 fr vy Pl sl ol
AT S A R R 3 @ e o g

Column 1

Sankhya

Yoga
Nyaya
Mimamsa

~
3
~

-d, 4-¢

[

e

l=c, 2-a, 3-b, 4-d (j ki

EEEEL

/!

Column I -

__>a. Patanjali

b. KapiL,

c. Jaiyini

d. Gauta@a

(B) 1-a, 2-d, 3-b, 4-c

(D) 1-d,2-c, 3-d, 4-c

&1 e gE 113 R 1 ove SRas & 99

@H

a. BRI
b, Hfw
c. dfed
d.  WEm

(B) l-a,2-d, 3-b, 4-c
(D) 1-d, 2-c, 3-d, 4-¢’

82. Gita Gopinath was the first woman chief economist to be appointed to which international

organization :
(A)

The IMT - \/

(C) Oxfam

(B) The World Bank
(D) Google

P SRSy Hed # e ATy Tedr Aty ger s g &2 7

S —~(A) #TEo THo Tho (B) o &
K\’L/ 837 The anti-tank missile successfully tested by the DRDO on 28th February 2018 was :
/(A Trishul (B) Akash (C) Nag (D) Shaurya
V' 28 w3 2018 F DRDO &7 T uwer-Ea ferameer &1 wwer qler far @y 7
(A) T (B) T (C) ¥ - (D)
84. Palacontology is the ‘S‘LUd}' of:
- (A) Plant and animal fossils \/ (B) Rocks
\// , (C) Volcanoes (D) Atmosphere

P.T.O.
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STaTeq st areae ey &
(A) 91 3wy fares @ (B) =i ar
(C) =TT & (D) aTgHAvET

-, Inwhich Indian city is the National Institute of Nutrition located ?

(A) Bengaluru (B) Chennai

(€) New Delhi (D) Hyderabad /
FIRA 3 0 T R geeee ot e Rer 7

(A) s - B) W

(C) 7 Rl S (D) FevmErs

@6// Should the RBI reduce the statutory liquidity ratio by 50 basis points, then
(A) India’s GDP will increasc dramatically.

—

(I3)  Foreign institutional investors will bring in more capital.
(C)  Scheduled commercial banks will cut their lending rates./
(1) Liquidity in the banking system wiil be drastically reduced.
7( a%mﬁaﬂ“mﬁaavwamaﬁraowwm%ww% GER
) T A e A ()
(B) RS gwmm fes aifvs il S|
(C)  srggfem afiifas o ot o o3 # a5l 255 -
(D) T ot § e B B A A L
87. According to the Constitution, a new All-India Service can be instituted with the initiative
taken by ? .
(A} More than two-thirds of state Assemblies  (B) The Rajya Sabha /
74 (C) Presidential Order » (D) The Lok Sabha
HAY % orEn, TE AT TRATT FT B e A o vt &
(A) =1 Ters § arfss oi & R wamait amo (B) T H97 g7
(C) T=uli & Ry &y (D) & T &/

@ Janaki Ammal was the first Indian woman to get a Ph.D. and an honorary D. Sc. from the
University of Michigan in which subject ? '

(A) Physics (B) Mathematics

(®) Chemistry/ (D) @ﬂﬁé&hé @;ﬁ,é{/w/
W*&W&wﬂwﬁmﬁwﬁﬂ@ﬁqﬁmmﬁwﬁmwwww
AfesT o, 7 Ty T fa Ry F Pyl 2

(A ifos fasm (B) Tt

(C) vEm faamm (D) ey fosme

603/A
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Match the names of Vedangas given in Column I with the discourses as given in
Column IT and provide the correct answer from the options given below :

Column 1 Column I
1. Shiksha a.  ritual instructions
2. Kalpa ‘ . b. phonetics, phonology, pronunciation
3. Vyakarana c. etymology and meaning of words
4. Nikruta d. grammér and linguistic analysis
Options : |
(A) l-a, 2-c, 3-d, 4-b (B) 1-c,2-d, 3-a, 4-b
(C) 1-b,2-a, 3-d, 4-¢c (D)ld2b3a4a

!{:ﬁIﬁﬁﬁ@ﬁ?ﬂﬁ%ﬂﬁwmﬂwﬁnﬁﬁﬁ@m@rmaﬁ?ﬁﬁﬁﬁwﬁﬁ
A8l ST gAY
T ) et

Loofwm o a. UER 4T ggee
2w b wife, meRee, sEr
3. @I e c. AR fasme ud el @ oy
4 Fma T e o e fai
TR '

(A) 1-a,2-c, 3-d, 4-b A (B) 1-c,2-d, 3-a,4-b
(C)1b2a3d4cq/ (D) 1:d,2-b,3-a,4-d

The'Union Legislature can legislate on a subject included in the State List only when :

(A) The President Orders
(B) The Rajya Sabha passes a resolution to this effect \/
(C) The Speaker give permission '
(D) Thercisa national emergency
e faenfoe o et 3 anfier flt P o St 9 €1 g o ) € o
(A) =T FT AT &Y
(B) U 99T 59 [T y&g oiig &
(C) Tt 3MmeT &
(D) T ST &
P.T.O.
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91.

92.

Match the years given in Column I with the important developments in the Indian
Independence Movement given in Column IT and provide the correct answer from the
options given below

Column . Colamn 1
1 1905 a.  Civil Disobedience Movement
2 1918 b.  Poorna Swaraj
3. 1924 "¢, Partition of Bengal
4 1930 d.  Champaran Satyvagraha
Options ;
(A) 1+, 2-c, 3-a, 4-b - (B) I-a, 2-c, 3-b, 4-d
(©) 1-c,2-d,3-b, 4-a , v ’ (D) 1-b, 2-d, 3-a, 4-¢

1. 1905 a.

2. 1918 b. U &

3. 1924 c. I & oo

4. 1930 d. 9RO T
e )

(A) 1-d, 2-c, 3-a, 4-b B) 1-a,2-¢, 3-b, 4-d

(C) 1-¢,2-d, 3-b, 4-a (D) 1-b, 2-d, 3-a, 4-¢
Newton’s First law of Motion is also known as -

(A) Principle of Inertia (B) Causality Principle
(C) Constancy Principle (D) Principle of Relativity

w%ﬁ%gw%ﬁﬁw%mﬁﬁww%:
(A) T= %1 fygre - \/ (B) PR FT Rrgr
(C) Terar &1 fygrg (D) HYERT =57 Rigr

Which among the following cities has the mid-day sun exactly overhead only once in a
vear ? -

(A) Delhi and Chennaj (B)  Srinagar and Darjeeling
(C) Nagpur and Kolkata (D) None | /
| ﬁmﬁ%ﬁﬁ%%s@ﬁmmg&wﬁmwma%w@w% ?
(A) Rt ofiy 2w | (B) &R & Zfffr
(C) 7R &R Frawmr (D) F1F oF 78

603/A
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When the nucleus of uranium is bombarded with neutrons, it breaks up into two of nearly
cqual mass. This process is called \/7-
(A) Radiation (B) Fusion (C) Fission . (D) Emission
T FAH HT AN L & AT FHA FAT &, T8 I A ST & Al e # o o ¥l 5

yiHaT 3 FEd ©
(A) Taferor (B) €waw (C) fgs= (D) o

85. Maltch the names of sanctuaries given in Column I with the states in which they are
. located given in Column I and provide the correct answer from the options given below :
TN Column I Column II
‘04 F Keladevi a. Goa
Pench — b.  Bihar
Udaypur T Tk Madhya Pradesh
Cotigao d.  Rajasthan
Options : ‘ —
(A) 1—d,2-03b4a,\/ (B) 1-a,2-d, 3-c, 4-b -

N8

NG

87

603/A

) ,
/The Emblem of India (Prohibition of Improper Use) Act was implemented in the year .

(C) 1-c,2-a,3-b, 4-d | (D) 1-b, 2-¢,3-d, 4-b (%

WIHﬁ@anme@IIW%%WWWWW% ¥ g o
o9 Fwedl § 4 @t IR gl

T 1 , gEt 10
1 ERIEC] //\3) a.  TEr
2. g o~ ,m fere
3. TEEEEA ,/—) c. mE WY
4. HrEETEr . TR
foree | / C
(A) 1-d,2-¢, 3-b, 4-a. (B) 1-a, 2-d, 3-c, 4-b
(C) 1-c,2-a, 3-b, 4-d (D) 1b,2-¢,3-d, 4-b
Where is the Indus Valley site located in Haryana ? :
(A) Panipat (B) Karnal (C) Rékhigarhi }a/ (D) Kaithal
gRamn # Ry ardt e wRf Rua § 7 ‘
(A) TN (B) &AW (C) THTE (D) F¥d

(A) 2006 (B) 2004  (C) 2005: vd (D) 2003
% TR 1% 21297 (Srgfd SwaT & ) Gae fee a9 A fam o ?
(A) 2006 (B) 2004 (C) 2005 » (D) 2003
P.T.O.
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98.
(A) Laser Physics

(C) Thermodynamics

a&fzomﬁﬁm%srﬁawﬁm‘mﬁ%%q

/ (A) o sifeedr ,\/

The Nobe] Prize for Physics in 2018 was aw

arded for pioncering work in which field ?
(B) Quantum Mechanics
(D) Aecrodynamics

siifoies (T a7 e QR ey oy o7 2

(B) a9TUen At
(D) amgmfer

28 . L . .
/69 Match the years of governmental committees to measure poverty given in Column I with

N
the options given below :

the persons who chaired these given in Column II an

d provide the correct answer from

Column [ Column II
) 1. 1989 a.  C. Rangarajan c,,,u,\c‘.y‘ﬂ‘ﬁj w
S 20 1997 b Y.K.Alagh ¢ 137 N
3. 2005 c. D.T. Lakdawala ¢ li(“f/}) —
4. 2012 \d. ~ Suresh Tendulkar )
Options :
(A) 1-c, 2-b, 3-d, 4-a (B) 1-b, 2-¢, 3-a, 4-d «
(C) 1-a. 2-d, 3-b, 4-¢ “ (D) 1-d.2-c,3-a,4-d -
zﬁﬁIiﬁ?i?@Waﬁmﬁ%ﬁmmW%aﬁwﬁww@iﬁﬁﬁ@aw&ﬁ%w

T BIT oK T R Reedt ¥ & wdt o
T 1

I

(A) 1-c, 2-b, 3-d, 4-a /

(C) 1-a,2-d, 3-b, 4-c »

100. The biologist who discovered the scientific function of cel

(A)
(C) William Harvey

Robert Hooke

v

(n) Tt e,
(©) Fofe w7,

603/A

a. ¥lo RN

b. dEo Fo Ty

c. Eo o dHET
d. g R

(B) 1-b, 2-c, 3-a, 4-d

(D) 1-d, 2-c, 3-a, 4-d

Is in 1665 was :
(B) Andrcas Vesalius

(D) John Hunter

l665ﬁ%%ﬁﬁ%ﬁﬁm%%ﬁﬁamﬁ@wﬁ%ﬁ,a€%:

(B) orisdy fdfery
(D) W &R
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